Jnet1

Patm 757,3 =

JNlabopaTtopHasa pabota Ned T=20

Ne V, mn A p, Ap, p 1/p
1 50 66,2 66,2 1,01E+005] 9,92E-006
2 60 41,2 41,5 1,01E+005| 9,92E-006
3 70 23 23,3 1,01E+005| 9,92E-006
4 80 9,5 9,5 1,01E+005| 9,92E-006
5 90 2,4 2,2 1,01E+005| 9,93E-006
6 100 9,9 9,8 1,01E+005] 9,93E-006
7 110 -19 -19,1 1,01E+005] 9,93E-006
8 120 -25,5 -25,5 1,01E+005| 9,93E-006
9 130 -31,1 -31,1 1,01E+005| 9,93E-006
10 140 -35,8 -35,8 1,01E+005] 9,93E-006
T=30,02

Ne V, mn Ap, Ap, p 1lp
1 50 69,3 69,3 1,01E+005] 9,92E-006
2 60 44,7 44,8 1,01E+005| 9,92E-006
3 70 25,8 25,9 1,01E+005| 9,92E-006
4 80 11,6 11,4 1,01E+005| 9,92E-006
5 90 0,7 0,8 1,01E+005| 9,92E-006
6 100 -8,4 -8,5 1,01E+005| 9,93E-006
7 110 -16,2 -16,3 1,01E+005| 9,93E-006
8 120 -23,3 23,2 1,01E+005| 9,93E-006
9 130 -29,1 29,2 1,01E+005| 9,93E-006
10 140 -33,8 -33,8 1,01E+005] 9,93E-006
T=40

Ne V, mn Ap, A p, p 1/p
1 50 73,9 73,7 1,01E+005| 9,92E-006
2 60 48,6 48,7 1,01E+005| 9,92E-006
3 70 29,8 29,6 1,01E+005| 9,92E-006
4 80 14,7 14,7 1,01E+005| 9,92E-006
5 90 2,5 3,6 1,01E+005| 9,92E-006
6 100 5,4 5,2 1,01E+005] 9,93E-006
7 110 -13,2 13,5 1,01E+005] 9,93E-006
8 120 -20,7 -20,9 1,01E+005| 9,93E-006
9 130 27,1 27 1,01E+005| 9,93E-006
10 140 -32 -31,9 1,01E+005] 9,93E-006
T=50

Ne V, Mmn A p, Ap, p 1/p
1 50 76,7 76,6 1,01E+005| 9,92E-006
2 60 51 50,9 1,01E+005| 9,92E-006
3 70 32,2 32,4 1,01E+005] 9,92E-006
4 80 17,1 17,2 1,01E+005| 9,92E-006
5 90 58 58 1,01E+005| 9,92E-006
6 100 -3,3 -3,5 1,01E+005| 9,93E-006
7 110 12 11,8 1,01E+005| 9,93E-006
8 120 -19,5 -19,6 1,01E+005| 9,93E-006
9 130 25,5 -25,7 1,01E+005| 9,93E-006
10 140 -30,1 -30,2 1,01E+005] 9,93E-006
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T=60
Ne V, mn Ap Ap, p 1/p
1 50 801 80,2 1,01E+005| 9,92E-006
2 60 54,6 54,8 1,01E+005| 9,92E-006
3 70 36,3 36,4 1,01E+005| 9,92E-006
4 80 20,5 20,5 1,01E+005| 9,92E-006
5 20 9,2 9,1 1,01E+005| 9,92E-006
6 100 0,1 0,3 1,01E+005| 9,92E-006
7 110 11,1 42 1,01E+005| 9,93E-006
8 120 17,6 A7.7 1,01E+005| 9,93E-006
9 130 25,8 25,8 1,01E+005| 9,93E-006
10 140 28,9 29 1,01E+005| 9,93E-006
# T k fx) = 71
1 20 -3,26E+009
2 30,02 -3,21E+009 -2 80E+009
3 40 -3,13E+009 15 20 25
4 50 -3,09E+009 -2,85E+009
5 60 -2,96E+009 -2,90E+009
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-2,95E+009
-3,00E+009
-3,05E+009
-3,10E+009
-3,15E+009
-3,20E+009
-3,25E+009
-3,30E+009

-
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100756,833885

A D

-3,26E+009 9,75E-017
A D

-3,21E+009 9,99E-017
A D

-3,13E+009 1,05E-016
A D

-3,09E+009 1,08E-016
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A

-2,96E+009

1,13E-016

17792,00374799x - 3415140608,53767

30 35 40 45 50 55 60 65
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t
-479,803373
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dA
== Crosnber C 0,100907464
—— JluHeniHas (Cronbew C)
dT
-44.,4026905
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E Yi-AXi-C  (Yi-AXi-C)*2 <X> Xi-<X> (Xi-<X>)"2 D
5,3191E+014 14775248,4 2,1831E+014 -3130400457 -127609063 1,6284E+016 5,2238E+016
-9281941,26 8,6154E+013 -80345976,6 6,4555E+015
-2145621,35 4,6037E+012 -2174092,54 4,7267E+012
-26982490,9 7,2805E+014 44166957,96 1,9507E+015
23634805,19 5,5860E+014 165962174,1 2,7543E+016
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dC
316049115,2
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